Debtor 1	HOME OWNERS BARGAIN OUTCET
Debtor 2 (Spouse, if filing	
United States	Bankruptcy Court for the: Nottesm District of LLLINGE

UNITED STATES BANKRUPTCY COURT NORTHERN DISTRICT OF ILLINOIS

JAN 07 2019

JEFFREY P. ALLSTEADT, CLERK TEAM - CA

Official Form 410

Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

	Part 1: Identify the Claim					
1	Who is the current creditor? One of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor					
2	Has this claim been acquired from someone else?	No Yes. From whom?				
3.	Where should notices and payments to the creditor be sent? Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Where should notices to the creditor be sent? Where should payments to the creditor be sent? (if different) South INTERNATIONAL INC. Name 1 Home News Row Number Street New Brunswick No. 0890 City State ZIP Code Contact phone Contact phone Contact email Contact email Contact email Contact email Contact email Contact phone Contact phone Contact email Contact email Contact phone Contact email Contact phone				
4.	Does this claim amend one already filed?	No ☐ Yes. Claim number on court claims registry (if known) Filed on 12 2018 ☐ ASE # 15-81145 (ABE)				
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?				

Do you have any numbe you use to identify the debtor?					
. How much is the claim?	S Does this amount include interest or other charges? No Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).				
What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information.				
Is all or part of the claim secured?	No Yes. The claim is secured by a lien on property. Nature of property: Real estate. If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) Value of property: \$				
	Amount of the claim that is unsecured: \$(The sum of the secured and unsecured amounts should match the amount in line. Amount necessary to cure any default as of the date of the petition: \$				
	Annual Interest Rate (when case was filed)% Fixed Variable				
Is this claim based on a lease?	Yes. Amount necessary to cure any default as of the date of the petition. No				

12. Is all or part of the clai entitled to priority und 11 U.S.C. § 507(a)?		Amount entitled to priority					
A claim may be partly priority and partly	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$					
nonpriority. For example in some categories, the law limits the amount entitled to priority.	Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$					
	\$						
	11 U.S.C. § 507(a)(4). Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).						
	☐ Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$					
	Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$					
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or after	the date of adjustment.					
Part 3: Sign Below							
The person completing this proof of claim must	Check the appropriate box:						
sign and date it. FRBP 9011(b).	I am the creditor.						
If you file this claim	I am the creditor's attorney or authorized agent. I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.						
electronically, FRBP 5005(a)(2) authorizes courts	I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.						
to establish local rules specifying what a signature	Lugdombood the Lorent House						
A person who files a	I understand that an authorized signature on this <i>Proof of Claim</i> serves as an acknowledgment the amount of the claim, the creditor gave the debtor credit for any payments received toward the debtor credit for any payments.	at when calculating the t.					
fraudulent claim could be fined up to \$500,000, imprisoned for up to 5	I have examined the information in this <i>Proof of Claim</i> and have a reasonable belief that the informand correct.	4					
years, or both. 18 U.S.C. §§ 152, 157, and	I declare under penalty of perjury that the foregoing is true and correct.						
3571.	Executed on date 1 2 2019						
	Signature Regard, CEO.						
	Print the name of the person who is completing and signing this claim:						
	Name SANJEEV BACAA First name Middle name Last name	211					
	Title CEO						
	Company GDB International Inc. Identify the corporate servicer as the company if the authorized agent is a servicer.						
	Address 1 HOME NEWS ROW Street						
	NEW BRUNSWICK NJ 089	0/					
		@GOBINTERNATION					



GDB INTERNATIONAL INC.

One Home News Row New Brunswick, NJ 08901-3601 harin@gdbinternational.com

INVOICE

BILL TO

НОВО

Home Owners Bargain Outlet Belvidere Assoc. LLC 2650 Belvidere Rd.

Waukegan, IL 60085

SHIP TO

НОВО

Home Owners Bargain Outlet

Belvidere Assoc. LLC 2650 Belvidere Rd.

Waukegan, IL 60085

INVOICE # 51431

DATE 07/16/2018

DUE DATE 07/16/2018

TERMS COD

SHIP DATE 07/16/2018	SHIP VIA TA 143354	TRAC 85952	KING NO. 2	SALES PERSON JANET (D)	GDB ORDER# S04277-IL	CUSTOMER ORDER# N21487
ACTIVITY		QTY	BATE			AMOUNT
KEN-PRH-G1 DC FLAT LATE: INTERIOR EXT WHITE PRIMER	ERIOR	210	3.50			735.00
EV-LTX-AUTUM 1G Evolve Latex, Au Brown 1 Gallon	utumn	210	5.00			1,050.00
EV-LTX-SKYBL Evolve Latex, Sk Gallon can		70	5.00			350.00
EV-LTX-POSYP Evolve Latex, Po Gallon can		70	5.00			350.00
EV-LTX-VINEGF Evolve Latex, Vin Gallon can		70	5.00			350.00
EV-S/G-GRAY EVOLVE LATEX GLOSS GRAY E		100	6.00			600.00
EV-S/G-SUNBM EVOLVE SEMI O SUN BEAM YEL	GLOSS	60	6.00			360.00
PRH-LTX-U Latex White Primunits)	ner (Qty in	72	13.75			990.00
EV-LTX-ANTWH Evolve Latex, An (Qty in Units)		24	22.50			540.00

1			
ACTIVITY .	QTY	RATE	AMOUNT
EV-LTX-CLDWHT-5G-U Evolve Latex, Cloud White (Qty in Units)	48	22.50	1,080.00
WBS-IW-FL-U Latex Interior Flat Pure White Paint (Qty in Units)	72	23.75	1,710.00
WBS-WH-SM-PLT-G5-U Diamond Collection Semi- Gloss Latex Interior Exterior White (Qty in units)	96	26.25	2,520.00
WBS-WH-ST-PLT-G5 SATIN LATEX WHITE PAINT G5 (Qty in gallons)	48	25.00	1,200.00
EVSGBEACHBEIGE-G5-U EVOLVE LATEX PAINT	24	27.50	660.00
SEMI-GLOSS FINISH INTERIOR EXTERIOR BEACH BEIGE 5G (Qty in units)			

It is the customer's responsibility to ensure that further sales of purchased products on this invoice complies with all local and international requirements.

GDB International Inc will not be liable for any non-compliance by the customer. This invoice reflects products shipped by GDB International, Inc. Buyer must notify of any claims or disputes related to this shipment within seven (7) days of receipt.

PAYMENT BALANCE DUE

\$11,895.00

United States Bankruptcy Court Northern District of Illinois

Jeffrey P. Allsteadt, Clerk of Court



GDB International Inc One Home News Row New Brunswick, NJ 08901 Date: 12/27/2018

Letter	to Filer:	Case Number, if applicable: Case Name, if applicable:	15-81145 (ABG)
	CREDIT BUREAU – The bankruptcy court does NOT p individual credit bureaus for their procedure for rem	oving your bankruptcy filing fro	credit bureaus. You must contact the om their credit report.
RETURI	Case name/number is missing. Please provide the case number is not listed on the document. Please provide the case number is not listed on the document.	ase verify case name/number. se name/number. rovide the case number.	
V	There are several debtors listed. Please provide the c Proof of Claim – please fill out the attached Proof of of of claim electronically thorough the EPOC System on and-related-documents. Or you may file a paper claim at http://www.uscourts.gov/forms/bankruptcy-forms	Claim form and return to our o our website at: http://www.iln n and return it to us. Obtain th	h uscourts anylolostronia nun of alain
	OTHER/REMARKS:		

IF APPLICABLE

Include the name of the debtor/joint debtor, the case number, the signature of the debtor/joint debtor on all required documents.

Include the signature of the attorney representing the debtor/joint debtor.

Mail the required document(s) listed above, including this Letter to my attention at: United States Bankruptcy Court, Eastern Division, 219 S. Dearborn, Chicago, IL 60604

Deputy Clerk	Daphne Williams		
Contact Number	(312) 435-5682		

Northern District of Illinois Claims Register

18-30043 Belvidere Associates LLC

Honorable Judge: Jacqueline P. Cox **Chapter:** 11

Office: Eastern Division

Last Date to file claims:

Trustee:

Last Date to file (Govt):

Creditor: (27429025) Claim No: 35 Status:
GDB International Inc Original Filed Filed by: CR

1 Home News Row Date: 01/07/2019 Entered by: Maria Garcia

New Brunswick NJ 08901 Original Entered Modified:

Date: 01/08/2019

Amount claimed: \$11895.00

History:

<u>Details</u> 35-1 01/07/2019 Claim #35 filed by GDB International Inc, Amount claimed: \$11895.00 (Garcia,

Maria)

Description:

Remarks: (35-1) Incorrect case number filer notified to file amended claim (Modified on

1/08/19) (MG)

Claims Register Summary

Case Name: Belvidere Associates LLC

Case Number: 18-30043

Chapter: 11

Date Filed: 10/25/2018 **Total Number Of Claims:** 1

Total Amount Claimed*	\$11895.00
Total Amount Allowed*	

^{*}Includes general unsecured claims

The values are reflective of the data entered. Always refer to claim documents for actual amounts.

	Claimed	Allowed
Secured		
Priority		
Administrative		